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COORDINATE GEOMETRY

Progress Check

1. A(0,4), B(5,0) and C( — 4, — 7) are vertices of

a triangle then its centroid will be at

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Kt7p4FRBr9Q7

2. The vertices of A PQR are P(0,-4),0(3,1) and

R(-8,1)
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o Watch Video Solution

Draw /A PQR on a graph paper.



https://dl.doubtnut.com/l/_Kt7p4FRBr9Q7
https://dl.doubtnut.com/l/_2fTwIeJt5EhY

3. Given a quadrilateral ABCD with vertices

A(-3,-8),B(6,-6),C(4,2) and D(-8,2).

Find the area of A\ ABC'.

o Watch Video Solution



https://dl.doubtnut.com/l/_sBbh7VXYNdLp

4. Fill the missing boxes

S.No. Points Slope
I | A(-a, b), BQa, -b) i
S A B i) 2
3 0
4 undefined

° Watch Video Solution

5. Fill the details In respective boxes

Intercept =¢ are given
XTh _ X7X | Two points (xy, py), (x3,33) | Two points form
= xTx are given
% + ,E =1 The intercepts are given Intercept form

o Watch Video Solution



https://dl.doubtnut.com/l/_gf5rSN8vuBA2
https://dl.doubtnut.com/l/_6fzjYl0DrEil

6. Fill the details in respective boxes

| Parallel or
S.No.| Equations Euraliel or | S.No. Equations _]
perpendicular | |~ perpendicular
I | sx+2p+5=0 || 3.T Sx—10y +11=0
5x+2y-3=0 | ] | 4x-5r+16=0
x-Ty—6=0 | | 2y-9%-7=0
7. 4.
Tx+3p+8=0 | |

2Ty +6x-21=0

o Watch Video Solution

Thinking Corner

1. If the area of a quandrilateral formed by the points

(a,a),(-a,a),(a,-a) and (-a,-a), where a # 0 is 64 square

units , then identify the type of the quadrilateral.

o Watch Video Solution



https://dl.doubtnut.com/l/_C6TMIYxXzOWj
https://dl.doubtnut.com/l/_Ta9QFGtGD07I

1. Find the area of the triangle formed by the points.

(1, —1),(—4,6),(—3, —5)

° Watch Video Solution

2. Determine whether the sets of points at collinear?

(a, b+ ¢), (b,c+ a) and (c,a + b)

o Watch Video Solution



https://dl.doubtnut.com/l/_Ta9QFGtGD07I
https://dl.doubtnut.com/l/_f9ErhCteFHIa
https://dl.doubtnut.com/l/_yCw3HXCdSeuW

3. Vertices of given triangles are taken in order and
their areas are provided aside. In each case, find the

value of 'p'.

S.No. Vertices Area(sq. units )
(i) (0,0),(p,8),(6,2) 20
(7’7’) (p7p)7(576)7(5'2) 32

o Watch Video Solution

4.n the each of the following, find the value of 'a' for
which the given points are collinear.

(27 3)7 (47 a’) and (67 T 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_IRURCVrGRrDq
https://dl.doubtnut.com/l/_4owYihudcyWH
https://dl.doubtnut.com/l/_MjviCmJj0QCZ

5. Find the area of the quadrilateral whose vertices
are at

(_97 _2)7(_87 _4)7(272) and (17 _3)

o Watch Video Solution

6. Find the value of k, if the area of a quadrilateral is

28 sqg.units, whose vertices are

(_47 _2)7(_37k)7(3’ _2) and (273)

o Watch Video Solution



https://dl.doubtnut.com/l/_MjviCmJj0QCZ
https://dl.doubtnut.com/l/_BfWN8VuRza4z

7. If the points A( — 3,9), B(a,b) and C(4, — 5)

are collinear and ifa + b = 1, find the a and b.

o Watch Video Solution

8. Let P(11, 7), O(13.9, 4) an dR(9.5, 4) be the mid
points of the sides AB, BC and AC respectively of
/A ABC. Find the coordinates of the vertices A, B,
and C. Hence find the area of A ABC and compare

this with area of A PQR.

o Watch Video Solution



https://dl.doubtnut.com/l/_2G4vJd3oIkil
https://dl.doubtnut.com/l/_O7Gj5X63GyEy

9. In the figure, the quadrilateral swimming pool
shown is surrounded by concrete patio. Find the area

of the patio.

C(6, 10)

° Watch Video Solution

10. A triangle shaped glass with vertices at
A(—5, —4),B(1,6) and C(7, —4) has to be

painted. If one bucket of paint covers 6 square feet,


https://dl.doubtnut.com/l/_SLsNLgkwmcfO
https://dl.doubtnut.com/l/_3jjgeieXZCMG

how many buckets of paint will be required paint is

applied.

o Watch Video Solution

11. In the figure, find area of

triangle FED

o Watch Video Solution



https://dl.doubtnut.com/l/_3jjgeieXZCMG
https://dl.doubtnut.com/l/_HesvDZkBl8I6
https://dl.doubtnut.com/l/_tWZwDnAWrPPl

1. What is the slope of a line whose inclination with

positive direction of x-axis is

90°

° Watch Video Solution

2. What is the inclination of a line whose slope is

0]

o Watch Video Solution

3. Find the slope of a line joining the points

(sinf, — cos ) and ( — sin @, cos #) with the origin



https://dl.doubtnut.com/l/_tWZwDnAWrPPl
https://dl.doubtnut.com/l/_mSVos53BDz6t
https://dl.doubtnut.com/l/_4IbKEWBtZwOK

o Watch Video Solution

4. What is the slope of a line perpendicular to the
line joining A(5, 1) and P where P is the mid-point of

the segment joining (4, 2)) and (-6, 4).

o Watch Video Solution

5. Show that the given points are collinear, (-3,-4) ,

(7,2) and (12,5)

o Watch Video Solution



https://dl.doubtnut.com/l/_4IbKEWBtZwOK
https://dl.doubtnut.com/l/_TeD43Zfmldq3
https://dl.doubtnut.com/l/_O8gLcrMxpeFi
https://dl.doubtnut.com/l/_vvVoCmtShfvL

6. If the three points (3,-1) (a,3) and (1,-3) are collinear,

find the vlaue of a..

o Watch Video Solution

7. The line through the points ( — 2, a) and (9, 3)

has slope — Find the value of a.

° Watch Video Solution

8. The line thorugh the point ( — 2,6) and (4, 8)
perpendicular to the line through the points

(8,12) and (z, 24).Find the value of x.

S |


https://dl.doubtnut.com/l/_vvVoCmtShfvL
https://dl.doubtnut.com/l/_8J60aShME89n
https://dl.doubtnut.com/l/_HXa09NuSJBaF

l @ \Watch video Solution J

9. Show that the given points form a right angled
triangle and check whether they satisfies pythagoras
theorem.

A(1, —4),B(2, —3) and C(4, — 7)

o Watch Video Solution

10. Show that the given points form a parallelogram:

A(2.5,3.5), B(10, — 4), C(2.5, — 2.5) and D( — 5, 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_HXa09NuSJBaF
https://dl.doubtnut.com/l/_7JRd1GGabMdC
https://dl.doubtnut.com/l/_wyGjVKzGVqlA

11. If the points
A(27 2)7 B( o 27 - 3)7 0(17 - 3) and D(xa y)

form a parallelogram then find the value of x and y.

o Watch Video Solution

12. Let
A(3, —4),B(9, —4),C(5, —7) and D(7, — 7).

Show that ABCD is a trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_wyGjVKzGVqlA
https://dl.doubtnut.com/l/_tLD2IESrVxxb
https://dl.doubtnut.com/l/_Xb6L6pIO4W6z

13. A quadrilateral has vertices at
A(—-4, —2),B(5, —1),C(6,5) and D( — 7, 6).
Show that the mid-point of its sides form a

parallelogram.

° Watch Video Solution

14. PQRS is a rhombus. Its diagonals PR and QS
intersect at the points M and satisfy QS =2PR. If the
coordinates of S and M are (1,1) and (2,-1) respectively

, find the coordinates of P.

° Watch Video Solution



https://dl.doubtnut.com/l/_DsE1QypaytRC
https://dl.doubtnut.com/l/_sfHs2CN1rF4M

1. Find the equation of a straight line passing
through the mid-point of a line segment joining the
points (1, — 5), (4, 2) and parallel to

X axis

o Watch Video Solution

2.The equation of a straight line is 2(x-y) +5 =0. Find

its slope, inclination and intercept on the Y axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_pVnF1DdGJdHq
https://dl.doubtnut.com/l/_HAsfEHF09e9w
https://dl.doubtnut.com/l/_6sC17CJxVIW5

3. Find the equation of a line whose inclination is

30° and making an intercept -3 on the Y axis.

° Watch Video Solution

4. Find the slope and 'y intercept of

V3z + (1—4/3)y = 3.

o Watch Video Solution

5. Find the value of 'a' if the line through (-2,3) and

(8,5) is perpendicular to y=ax+2 .

° Watch Video Solution



https://dl.doubtnut.com/l/_6sC17CJxVIW5
https://dl.doubtnut.com/l/_2ldD2ZlqLkvT
https://dl.doubtnut.com/l/_mKIpdaQP5ZNy

6. The hill in the form of a right triangle has its foot
at (19, 2). The inclination of the hill to the ground is
45°. Find the equation of the hill joining the foot

and top.

o Watch Video Solution

7. Find the equation of a line through the given pair

of pOintS (wla yl)v (w27 y2)
2 2 d —! 9
3) M\

° Watch Video Solution



https://dl.doubtnut.com/l/_mKIpdaQP5ZNy
https://dl.doubtnut.com/l/_xhkvojnjnIlo
https://dl.doubtnut.com/l/_uKAnR1114h97

8. A cat is located at the point ( — 6, —4) in xy
plane. A bottle of milk is kept at (5,11).The cat wishes
to consume the milk travelling through shortest
possible distance. Find the equation of the path it

needs to take its milk.

o Watch Video Solution

9. Find the equation of the median and altitude of
AN\ ABC through A where the vertices are

A(6,2), B(— 5, — 1) and C(1,9).

° Watch Video Solution



https://dl.doubtnut.com/l/_YuhomdQzt19a
https://dl.doubtnut.com/l/_jSF2xsTKjhJq

10. Find the equation of a straight line which has

-5
slope e and passing through the point (-1,2) .

o Watch Video Solution

11. You are downloading a song. The percent y (in
decimal form) of mega bytes remaining to get
downloaded in x seconds is given by y = 0.1z + 1.

find the total MB of the song.

o Watch Video Solution



https://dl.doubtnut.com/l/_j9IHatyWY7tv
https://dl.doubtnut.com/l/_H4xn6uuf9vL0

12. Find the equation of a line whose intercepts on
the x and y axes are given below.

(i) 4,-6 and (ii) -5, %

° Watch Video Solution

13. Find the intercepts made by the following lines on
the coordinate axes.
(1) 3x-2y-6=0

(i) 4x+3y+12=0

o Watch Video Solution



https://dl.doubtnut.com/l/_CkplHMcCSFCG
https://dl.doubtnut.com/l/_8xRG2BzgM6QB

14. Find the equation of a straight line
Passing through (1, -4) and has intercepts which are

in the ratio 2:5

o Watch Video Solution

1. Find the slope of the following straight lines.

(i) 5y-3=0

(i) 7 3 0
1) (x 17 =

° Watch Video Solution



https://dl.doubtnut.com/l/_2CRYMiBJc0Xy
https://dl.doubtnut.com/l/_PkXNXgopsgzi

2.Find the slope of the line which is
parallel to y=0.7 x-11

perpendicular to the line x =11

° Watch Video Solution

3. Check whether the given lines are parallel or

perpendicular

T Y 1 2T Y I
3—|—4—|—7—0and 3—|-2—|-10—0

o Watch Video Solution



https://dl.doubtnut.com/l/_CDZP5URPkv72
https://dl.doubtnut.com/l/_JlKAYY18mWnI

4, If the straight lines
12y = — (p+ 3)x + 12,122 — Ty = 16 are

perpendicular find 'p'.

° Watch Video Solution

5. Find the equation of a straight line passing
through the point P( — 5, 2) and parallel to the line

joining the points Q(3, — 2) and R( — 5, 4).

o Watch Video Solution



https://dl.doubtnut.com/l/_3wcyusBrBz6L
https://dl.doubtnut.com/l/_MBfzptyc4PAa

6. Find the equation of a line passing thorugh
(6, — 2) and perpendicular to the line joining the

point (6,7) and (2, — 3).

° Watch Video Solution

7. A(-3,0),B(10, — 2) and C(12,3) are the
vertices of /A ABC. Find the equation of the

altitude through A and B.

o Watch Video Solution



https://dl.doubtnut.com/l/_hmaQqvoSjzbZ
https://dl.doubtnut.com/l/_m0sU8zI3i34u

8. Find the equation of the perpendicular bisector of
the line joinging the point

A( —4,2) and B(6, — 4).

° Watch Video Solution

9. Find the equation of a straight line through the
intersection of lines 7x 4+ 3y = 10, 5 — 4y = 1 and

parallel to the lines 13z + 5y 4+ 12 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_uo7C5oy7WzMj
https://dl.doubtnut.com/l/_fZ2XFZFVqDbs

10. Find the equation of a straight line through the
intersection of lines 3= 4+ 2y = 10 and bx — 6y = 2

and perpendicular to the line 4z — 7y + 13 = 0.

° Watch Video Solution

11. Find the equation of a straight line joining the
point of intersection of
3r +y+2=0and x — 2y — 4 = 0to the point of

intersection of 7z — 3y = — 12 and 2y = = + 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_ITVD8TG8b2Na
https://dl.doubtnut.com/l/_QYR93qcJzUSx

12. Find the equation of a straight line through the
point of intersection of the lines
8r + 3y = 18,4z 4+ 5y = 9 and bisecting the line

segment joining the points (5, — 4) and ( — 7, 6).

° Watch Video Solution

1. The area of triangle formed by the points

(-5,0) ,(0,-5) and (5,0) is ..........

A. 0 sg. units


https://dl.doubtnut.com/l/_ymcmJHK2QT7h
https://dl.doubtnut.com/l/_CZn56W2iIOPu

B. 25 sqg. units

C. 5 sq.units

D. none of these

Answer: B

° Watch Video Solution

2. A man walks near a wall, such that the distance
between him and the wall is 10 units. Consider the

wall to be the Y axix. The path travelled by the man is

A. x=10


https://dl.doubtnut.com/l/_CZn56W2iIOPu
https://dl.doubtnut.com/l/_0rPRqnJVsWrm

B.y=10

C.x=0

D.y=0

Answer: A

° Watch Video Solution

3. The straight line given by the equation x=11is .........

A. parallel to x axis

B. parallel to y axis

C. passing through the origin


https://dl.doubtnut.com/l/_0rPRqnJVsWrm
https://dl.doubtnut.com/l/_QpMxcmXKPpdp

D. passing through the point (0,11)

Answer: B

° Watch Video Solution

4.1f (5,7),(3,p) and (6,6) are collinear, then the value of

B.6

C.9

D. 12


https://dl.doubtnut.com/l/_QpMxcmXKPpdp
https://dl.doubtnut.com/l/_xIBzGvjyqdGa

Answer: C

o Watch Video Solution

5. The point of intersection of

3r —y=4and ¢ +y = 8is

A. (53)

B.(2,4)

C.(3,5)

D. (4,4)

Answer: C



https://dl.doubtnut.com/l/_xIBzGvjyqdGa
https://dl.doubtnut.com/l/_zbniUVq9wdP7

| W Watch Video Solution

1
6. The slope of the line joining (12,3) (4,a) is 3 . The

value of 'a' is ...........

A1l

B.4

D. 2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zbniUVq9wdP7
https://dl.doubtnut.com/l/_HxYoBpVdRq8X
https://dl.doubtnut.com/l/_vVYdjL2sw5vE

7. The slope of the line which is perpendicular to a

line joining the points (0,0) and (-8,8) is ......

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vVYdjL2sw5vE

1
8. If slope of the line PQ is —3 then slope of the

perpendicular bisector of PQ is ...

A /3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ZX47RG1F4SFS

9. If A is a points on the Y axis whose ordinate is 8

and B is a point on the x axis whose abscissae is 5

then the equation of the line AB is ......

A. 8x+5y=40

B. 8x-5y=40

C.x=8

D.y=5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SSpWDoCZ7NaE

10. The equation of a line passing through the origin

and perpendicular to the line 7x-3y+4=0 is ........

A. 7x-3y+4=0

B. 3x-7y+4=0

C. 3x+7y=0

D. 7x-3y=0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uzf6uLsz56WP

11. Consider four straight lines

(i) =3y =4z + 5 (ii)ly: 4y =3z — 1

(iii)lg: 4y + 3y = 7 (iv)iydx + 3y = 2

A.l; and [, are perpendicular

B.l; and [l are parallel

C.ly and I, are perpendicular

D.ly and I3 are parallel

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SH1zl3okvtFH

12. A straight line has equation 8y=4x+21.

which of the following is true.........

A.The slope is 0.5 and the y intercept is 2.6

B. The slope is 5 and the y intercept is 1.6

C.The slopeis 0.5 and the y intercept is 1.6

D. The slope is 5 and the y intercept is 2.6

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3U5d0WVCCp1l

13. When proving that quadrilateral is a trapezium it

is neccesary to show _

A. Two sides are parallel

B. Two parallel and two non-parallel sides

C. Opposite sides are parallel

D. All sides are of equal length.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ubyYJjCgAMwr

14. When proving that a quadrilateral is

parallelogram by using slopes you must find

A. the slopes of two sides

B. The slopes of two pair of opposite sides

C.The lengths of all sides

D. Both the lengths and slopes of two sides

Answer: B

° Watch Video Solution

15.(2, 1) is the points of intersection of two lines


https://dl.doubtnut.com/l/_fsieIDrXstxW
https://dl.doubtnut.com/l/_VW4KwsLnw8g6

A. x-y=3=0, 3x-y-7=0

B. x+y=3,3x+y=7

C. 3x+y=3 x+y=7

D. x+3y-3=0, x-y-/=0

Answer: B

° Watch Video Solution

Unit Exercise 5

1. PQRS is a rectangle formed by joining the points

P(-1, —1),Q(—1,4), R(5,4) and S(5, — 1).


https://dl.doubtnut.com/l/_VW4KwsLnw8g6
https://dl.doubtnut.com/l/_EEJvLfPaPkAm

A, B, C and D are the mid points of PQ, QR, RS and SR
respectively. Is the quadrilateral ABCD a square, a

rectangle or a rhombus? Justify your answer.

° Watch Video Solution

2. The area of triangle is 5 sq. units. Two of its
vertices are (2,1) and (3, — 2). The third vertex is
(X, y) where y=x+3. Find the coordinates of the third

vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_EEJvLfPaPkAm
https://dl.doubtnut.com/l/_pU2mxGqYWeo6

3. Find the area of a triangle formed by lines

3r+y—2=0,524+2y—3=0and 2x —y—3 =0

o Watch Video Solution

4., If vertices of a quadrilateral are at
A(—-5,7),B(—4,k),C(—1, —6) and D(4,5)

and its area is 72 sq. units. Find the value of k.

o Watch Video Solution

5. Without using distance formula, show that the

points (—2, —1),(4,0),(3,3) and ( —3,2) is


https://dl.doubtnut.com/l/_12QDHDwxcmX7
https://dl.doubtnut.com/l/_sZ4LnBDRJMSg
https://dl.doubtnut.com/l/_gsuXovWXCLOZ

vertices of a parallelogram.

o Watch Video Solution

6. Find the equations of the lines, whose sum and

product of intercepts are 1and -6 respectively.

o Watch Video Solution

7. The owner of a milk store finds that, he can sell 980
litres of milk each week at ¥14/litres and 1220 litres of

milk each week at F16/litre. Assuming a linear


https://dl.doubtnut.com/l/_gsuXovWXCLOZ
https://dl.doubtnut.com/l/_MNGdzdMaBftw
https://dl.doubtnut.com/l/_rwL6jRsjyzjL

relationship between selling price and demand, how

many litres could he sells weekly at ¥17/litres?

o Watch Video Solution

8. Find the image of the points (3, 8) with respect to
the line x + 3y = 7 assuming the line to be a plane

mirror.

o Watch Video Solution

9. Find the equation of a line passing through the

point of intersection of the lines


https://dl.doubtnut.com/l/_rwL6jRsjyzjL
https://dl.doubtnut.com/l/_R31AhpdVIOcd
https://dl.doubtnut.com/l/_MTmnTyLxA0rI

dr +Ty—3 =0and 2z —3y+ 1 =0 that has

equal intercepts on the axes.

o Watch Video Solution

10. A person standing at a junction (crossing) of two
straight paths represented by the equations
2 —3y+4=0and 3z +4y—5=0 seek to
reach the path whose equation is 6z — 7Ty + 8 = 0
in the least times. Find the equation of the path that

he should follow.

° Watch Video Solution



https://dl.doubtnut.com/l/_MTmnTyLxA0rI
https://dl.doubtnut.com/l/_xdUGYGb8naLq

Additional Questions Solved Multiple Questions

1. If the three points (-3,7),(a,1),(-3,2) are collinear then

the value of 'a' is ........

A.O

D. 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZZNKUMEJDFwm

Additional Questions Solved Multiple Choice Questions

1. If A(5,5) ,B(-5,1) ,C(10,7) lie in a straight line, the area

of AABC'is ...

13 :
A B) sq.units

B. 9 sq. units
C. 25 sq.units

D.O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gSKT4SGGAy0w
https://dl.doubtnut.com/l/_1L3vXTUWMEPq

31
2.In a rectangle ABCD area of AABCi37 Sq. units.

Then the area of rectangle is ...

A. 62 sq. units
B. 31sq. units
C. 60 sqg. units

D. 30 sq. units

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1L3vXTUWMEPq

3. If the points (k,2k) ,(3k,3k) and (3,1) are collinear,

then k is ..........

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nKIzdcatYB53

4. If the area of the triangle formed by the points

(x,2x) ,(-2,6) and (3,1) is 5 square units then x=.............

D.5

Answer: A

o Watch Video Solution

5.The slope of a line parallel to y-axis is equal to ...


https://dl.doubtnut.com/l/_dKCW3k0GCqBv
https://dl.doubtnut.com/l/_s4XbSE9OOMKT

A.O

B.—1

C.1

D. not defined

Answer: D

o Watch Video Solution

5
6. In a rectangle PQRS , the slope of PQ = G then

the slope of RS is ...........

A—5
6


https://dl.doubtnut.com/l/_s4XbSE9OOMKT
https://dl.doubtnut.com/l/_FFwPBbTQxDru

|
&

Answer: D

o Watch Video Solution

7.The y-intercept of the line y=2x is ..........

A1l

B.2


https://dl.doubtnut.com/l/_FFwPBbTQxDru
https://dl.doubtnut.com/l/_zO2qlhr9TKJK

D.O

Answer: D

° Watch Video Solution

8.The straight line given by the equation y=5 is .........

A. parallel to x axis

B. parallel to y axis

C. passing through the origin

D. none of these

Answer: A


https://dl.doubtnut.com/l/_zO2qlhr9TKJK
https://dl.doubtnut.com/l/_Sm0Y8FgmkAsz

o Watch Video Solution

9. The x-intercept of the line 2x-3y+5 =0 is ............

A5
2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Sm0Y8FgmkAsz
https://dl.doubtnut.com/l/_MyQJvzE4zYci

10. The lines 3x-5y+1=0 and

perpendicular if the value of k is ........

D.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JRg82YVafdxj

1. if x-y=3 and x+2y=6 ae the diameters of a circle

then the centre is at the point.........

A. (0,0)

B. (1,2)

C. (1,-1)

D. (4,1)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YR662BGwor3h

12. The line 4x+3y-12=0 meets the x-axis at the

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cS1E9IQlHr0f

13. The equation of a straight line passing through

the point (2,77) and parallel to x-axis is ..........

A. x=2

B. x=-7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_r7uwPEpVgtHV

14. The equation of a straight line having slope 3 and

y intercept 4 is ..........

A.3x-y-4 =0

B. 3x+y-4=0

C. 3xy+4=0

D. 3x+y+4=0

Answer: A

o Watch Video Solution

Additional Questions Solved Answer The Following

Questions



https://dl.doubtnut.com/l/_kiCLxyldehOq

1. If the points (3,-4) (1,6) and (-2,3) are the vertices of

a triangle ,find its area.

° Watch Video Solution

2. If the area of the triangle formed by the points

(1,2) (2,3) and a,/4) is 8 sq. units find a.

o Watch Video Solution

3. If the points A(2,5) ,B(4,6) and C(8,a) are collinear

find the value of 'a' using slope concept.



https://dl.doubtnut.com/l/_gv7m4b8VrL6z
https://dl.doubtnut.com/l/_xdQvzLh2szGQ
https://dl.doubtnut.com/l/_b6uDmfmkva4K

l o Watch Video Solution ]

4. If (x, y) is any point on the line joining the points

A(a, 0) and B (0, b), then show that % n % _

o Watch Video Solution

5. A straight line passes through (1,2) and has the

equation y-2x-k =0 . Find k.

o Watch Video Solution



https://dl.doubtnut.com/l/_b6uDmfmkva4K
https://dl.doubtnut.com/l/_gOJ6xdAIv0h9
https://dl.doubtnut.com/l/_8gWignSYZ1a6

6.If a line passes through the mid point of AB where
A is (3,0) and B is (5,4) and makes an angle 60° with

x-axis find its equation.

° Watch Video Solution

7. Find the equation of the line through (3,2) and

perpendicular to the line joining (4,5) and (1,2)

o Watch Video Solution

8.P and Q trisect the line segment joining the points

(2,1) and (5,-8) . If the point P lies on 2x-y+k=0, then


https://dl.doubtnut.com/l/_3GHgu8eVwtJp
https://dl.doubtnut.com/l/_BhrHxQUzpRNP
https://dl.doubtnut.com/l/_6NCdw4uQoBdH

find the value of k.

o Watch Video Solution

9. Find the equation of the line passing through (4,5)

and making equal intercept in the axes.

o Watch Video Solution

10. Find the equation of the line passing through
(2,-1) and whose intercepts on the axes are equal in

magnitude but opposite in sign.

o Watch Video Solution



https://dl.doubtnut.com/l/_6NCdw4uQoBdH
https://dl.doubtnut.com/l/_6U2qL5F5QAjm
https://dl.doubtnut.com/l/_shRv0ExyOXbj

11. The straight line cuts the coordinate axes at A and
B. if the mid point of AB is (3,2) the find the equation

of AB.

o Watch Video Solution

12. If the coordinates of two points A and B are (3,4)
and (5,-2) respectively . Find the coordinates of any

point 'c' , if AC =BC and area of triangle ABC =10 sq.


https://dl.doubtnut.com/l/_shRv0ExyOXbj
https://dl.doubtnut.com/l/_jmESUWpwDaOa
https://dl.doubtnut.com/l/_iHKJaVS0pFlL

units.

C(a, )

A B
(3,4) (3.-2)

o Watch Video Solution

13. The four vertices of a quadrilateral are (1,2) (-5,6)

(7,-4) and (k,-2) taken in order.


https://dl.doubtnut.com/l/_iHKJaVS0pFlL
https://dl.doubtnut.com/l/_CkSJGurxRqyP

if the area of the quadrilateral is 9 sq. units find the

value of k.

o Watch Video Solution

14. Find the area of a triangle whose three sides are

having the equations x+y=2,x-y=0 and x+2y-6 =0.

° Watch Video Solution

15. Verify the Median of a triangle divides into two
triangles of the equal whose vertices are

A(4,-6),B(3,-2) and C(5,2)

S |


https://dl.doubtnut.com/l/_CkSJGurxRqyP
https://dl.doubtnut.com/l/_u6wc23GcXc2u
https://dl.doubtnut.com/l/_YKZ1HI86GOnm

l @ \Watch video Solution j

16. Find the area of the AABC with A(1,-4) and the

mid points of sides through A being (2,-1) and (0,-1)

° Watch Video Solution

17. Find the equation of the straight lines passing

through (-3,10) whose sum of the intercepts is 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_YKZ1HI86GOnm
https://dl.doubtnut.com/l/_VQ0QNORGFour
https://dl.doubtnut.com/l/_gU4N1BrloK9O

18. Find the equation of the straight line passing
through the point of intersection of the lines 5x-
8y+23=0 and 7x+6y-71=0 and is perpendicular to the

line joining the points (5,1) and (-2,2) .

° Watch Video Solution

19. Find the equation of the line passing through the
points of intersection of 4x-y-3=0 and x+y-2=0 and

perpendicular to 2x-5y+3=0.

o Watch Video Solution



https://dl.doubtnut.com/l/_pOIZd8uD4mEb
https://dl.doubtnut.com/l/_RY213ooiQs6u

20. Find the equation of the line through the point
of intersection of the lines 2x+y-5=0 and x+y-3=0 and
bisecting the line segment joining the points (3,-2)

and (-5,6).

° Watch Video Solution



https://dl.doubtnut.com/l/_DT1aGKsvMhSc

